


















Statements :

No wire is pin.

Some pins are mugs.

Conclusions :

I. All mugs being wires is a 
possibility.

II. Some mugs are not wires.

EXAMPLE

कथन: 
कोई वायर पिन नह ीं है।

कुछ पिन मग हैं।

पनष्कर्ष: 
सभ मग के वायर होने क 

सींभावना है।

कुछ मग वायर नह ींहैं।



Statements :

No wire is pin.

Some pins are mugs.

Conclusions :

I. All mugs being wires is a 
possibility.

II. Some mugs are not wires.

EXAMPLE



Find the missing ONE (?)

4 : 120 :: 8 : ?

(A) 1040

(B) 1008

(C) 896

(D) 924
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Find the missing ONE (?)

83 : 45 :: 25 : ?

(A) 45

(B) 56

(C) 54

(D) 27
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Find the missing ONE (?)

7 : 18 :: 12 : ?

(A) 26

(B) 14

(C) 32

(D) 27
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